S5 FERBEXHIRRL (AR

(5f15%4 A]

HS | XA X X5 XHAR T HEEM)
1 48120 BB ALPIARR LI RE) 35,000
2 4721H ZDfs |IRBEBH—HAERIRILIAE 13,200
3 4F28H ZBRE HREARINKREXE BHz =B 5,000

& = 53,200

(#5445 8]

#HS | XHH X HX S XHAR T HEEA)
L 5A11H ERE PRERITEERRE 2B 6,600
5 5A11H IR AEMEITERAS 28 5,000
6 5H24H B BEEXDMEICHR S EHH 5,000
7 5H31H AR BEERXOMEICHR S ER 11,000

N . 27,600

[(5#015%6 A]

#HS | XHH X HE D XHAR T HEEA)
8 6HTH 2RE TREDEE B#He - #xds <& 5,000
9 68 14H RN HELINREDBERERIRS SmMals 2,000
10 6H23H 2RE HABEEZEI-—THaZElXXins T|Hs =& 5,000
11 6H23H ABEK XX LHE B#xkx <& 5,000
12 6H30H R BEEROMEICHRDEFH 5,000

& = 22,000




(570547 A)

#5 | X&EH X HX S XHAR X H&%E (M)
13 7TR6RH BR ABNERAKTHRERESEHERERESONEICH L EL 5,000
14 TH6H IR XX TR RS BHe <E 5,000
15 7TA11H BRL BERBOWEICHRDER 12,000
16 7A18H EE HERERE & 5,000
17 7TA18H BRL BEZEE[ONMEICHRDLEHR 5,000
18 7A18H EE AXEABRERS RS <& 7,000

& 5 39,000

[4f15 48 Al

5 | XHEH X HX S THAR X H&%E (M)
19 8H21H AR SRS ARRE & 5,000
20 8F21H HHk AREZDIRBBEBAEY T v bfin—2H ShaiEs 2,500
21 8A31H WK HETBRBEE s <& 5,000

& =i 12,500

[(5F15 49 A]

5 | XHH X H X XHAR X He%E (M)
22 987H B KR, REZEEEH ICR5EH 5,000
23 9R7H B REDOHMEIHR S E 5,000
24 987H AR FEBERITEERE <& 8,000
25 9R7H AN RREERVZEERE SNEass 7,000
26 98 7H P2l AN EAREBAEMERIME Smaes 5,000
27 9F22H AR BEEXDOHEICHRD EFH 5,000
28 9A27H | BRI B EMISIRER2024EFENEN 28 5,000
29 9829A B RREDOHE IR D EER 11,000

=) Ell 51,000




(570541 0 A]

HS | XHH XX XHAR X HE5EA)
30 10A5H B EeFEECHNRELOBRHKS SMaEs 2,000
31 | 10811A B BEERXOWEIZIHR D ER 12,000
32 10A19H ERE HANEXEER #xls <& 5,000

& =t 19,000

[(sf15F11A]

HS | XHH X X5 XHAR X H&E (M)
33 11A1H ZBE HNXER - AIIREBHINRBHKE =B 5,000
34 11A1H ERE T omBRRGEREEREs 2B 4,500
35 | 11829H B REERXDOHE IR D F 5,000
36 | 11830H ZAN EEFEEMIBEAMICHRD EY 2,800

& = 17,300
[(5F15412A]

HS | XHH X HX XHAR X H&E (M)
37 12A12H ZBE IXERRER 3 MM EREERAMES BiHs <& 10,000
38 128 26H 2RE WAHPBREFRAERVEREHKS SMaEs 2,000
39 | 12826H SR AXENE BHRBHRS REBE 5,000

N - 17,000

[4f64E1A]

HS Xt H XX XHAR T HEEE M)
40 1A17H AR AR—VHEZEEHOAEICHRIEHR 5,000

& =i 5,000




(671642 8]

&5 | XA | XHEH K HAE X 48 (F)

41 | 2A15B| @y |IRBEERE AR 6,000
a B 6,000

(sf1 643 A]

&5 | XHA | XHEH X AR % S48 (M)
& 0




